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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 8 rFkk iz'u 20 gSaA  
 Please make sure that the printed pages in this question paper are 8 in number and 

it contains 20 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij 
fy[ksaA 

 The Code No. and Set on the right side of the question paper should be written by 
the candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 
strike the written answer. 

SET : B 
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•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 
write anything on question paper and don't make any mark on answers of objective 
type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 
complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekUlkekUlkekUlkekU; funsZ'k %; funsZ'k %; funsZ'k %; funsZ'k %    

 (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

 (ii) bl ç'u-i= esa dqy 20 iz'u gSa] tks pkjpkjpkjpkj [k.Mksa % v] c] lv] c] lv] c] lv] c] l rFkk nnnn    esa foHkDr  gSaA 

 (iii) [k.M &[k.M &[k.M &[k.M & vvvv ds iz'u la[;k 1 esa iUnzgiUnzgiUnzgiUnzg (i-xv) oLrqfu"B iz'u ¼cgqfodYih;/,d,d,d,d ;k nksnksnksnks 'kCnksa ;k 
okD;ksa esa/fjDr LFkku½ gSaA çR;sd ç'u 1 vadk dk gSA 

 (iv) [k.M[k.M[k.M[k.M &&&& cccc esa iz'u la[;k 2 ls 9 rd vfr-y?kwÙkjkRed iz'u gSaA izR;sd iz'u ds 2 vad gSaA 

 (v) [k.M &[k.M &[k.M &[k.M & llll esa iz'u la[;k 10 ls 17 rd y?kwÙkjkRed iz'u gSaA izR;sd iz'u ds 3 vad gSaA 
 (vi) [k.M &[k.M &[k.M &[k.M & nnnn esa iz'u la[;k 18 ls 20 rd nh?kZ mÙkjkRed iz'u gaSA izR;sd iz'u ds 5 vad gSaA 
 (vii) [k.M[k.M[k.M[k.M         &&&& nnnn ¼nh?kZ mÙkjkRed iz'u½ ds nksnksnksnks iz'uksa esa vkUrfjd fodYi miyC/k gSA ,sls iz'uksa esa ls 

vkidks nh x;h NwV esa ls dsoydsoydsoydsoy ,d,d,d,d gh iz'u djuk gSA 

General Instructions :        
 (i) All questions are compulsory. 

 (ii) This question paper contains 20 questions, which are divided into four 
Sections : A, B, C  and D. 

 (iii) Section – A contains question number 1 having fifteen (i-xv) objective type 
questions (multiple choice type questions/one or two words or 
sentences/Filling the blanks). Each question carries 1 mark. 

 (iv) Section – B contains question numbers 2 to 9 of very short answer type 
questions and carry 2 marks each. 
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 (v) Section – C contains question numbers 10 to 17 of short answer type 
questions and carry 3 marks each. 

 (vi) Section – D contains question numbers 18 to 20 of long answer type questions 
and carry 5 marks each. 

 (vii) Internal choice is available in two questions of Section-D (Long Answer Type 
Questions). You have to attempt only one of the given choice in such 
questions. 

[k.M[k.M[k.M[k.M – vvvv    
SECTION –  A 

¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½    
(Objective Type Questions) 

  1. (i) fdl flaMªkse esa 45 Øksekslkse ik, tkrs gSa \ 1 

  (A) Mkmu (B) DykbQsYVj 

  (C) VuZj (D) buesa ls dksbZ ugha 

  In which syndrome 45 chromosomes are found ? 

  (A) Down's (B) Klinefelter's 

  (C) Turner's (D) None of these 

 (ii) uj fo"ke;qXedrk ¼fgfVjksxsfeVh½ fdlesa ikbZ tkrh gS \ 1 
  (A) MªkslksfQyk (B) fVM~Mk 
  (C) ekuo (D) ;s lHkh 

  Male heterogamety is found in : 

  (A) Drosophila (B) Grasshopper 

  (C) Human being (D) All of these 

 (iii) euq"; ds vxqf.kr Mh ,u , esa fdrus {kkj ;qXe gksrs gSa \ 1 

  (A) 3.0 × 109 (B) 3.3 × 109 

  (C) 2.3 × 106 (D) 4.6 × 106 
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  Base pairs in haploid content of human DNA is : 

  (A) 3.0 × 109 (B) 3.3 × 109 

  (C) 2.3 × 106 (D) 4.6 × 106 

 (iv) 5 esfFky ;wjsfly dk nwljk jklk;fud uke dkSu&lk gS \ 1 

  (A) Fkk;ehu (B) lkbVkslhu 
  (C) ;wjsfly (D) Xokuhu 

  Which is the another chemical name of 5 Methyl Uracil ? 

  (A) Thymine (B) Cytosine 

  (C) Uracil (D) Guanine 

 (v) dkSu&lk f}xqf.kr gS \ 1 

  (A) 'kqØk.kqtu (B) izkFkfed 'kqØk.kqdksf'kdk,¡ 
  (C) (A) vkSj (B) nksuksa (D) f}rh;d 'kqØk.kqdksf'kdk,¡ 
  Which is diploid ? 

  (A) Spermatogonia (B) Primary spermatocyte 

  (C) Both (A) and (B) (D) Secondary spermatocyte 

 (vi) ykscsfQu fdlesa fodflr gq, \ 1 

  (A) mHk;pj (B) ljhl`i 
  (C) i{kh (D) Lru/kkjh 
  Lobefins evolved into : 

  (A) Amphibians (B) Reptiles 

  (C) Birds (D) Mammals 

 (vii) fuEu esa ls dkSu míhid ¼LVheqysfVax½ vlj Mkyrk gS \ 1 

  (A) dksdsu (B) ekWfQZu 
  (C) fgjksbu (D) buesa ls dksbZ ugha 
  Which of the following have stimulating action ? 

  (A) Cocaine (B) Morphine 

  (C) Heroin (D) None of these 
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 (viii) balqfyu dh Üka`[kyk A ,oa B vkil esa fdlls tqM+h gksrh gSa \ 1 

  (A) QkWLQks,sLVj ca/k (B) ukbVªkstu XykbdksflfMd ca/k 

  (C) QkWLQksMkb,sLVj ca/k (D) MkblYQkbM ca/k 

  Chain A and B of insulin are linked together by : 

  (A) Phosphoester linkage (B) N-glycosidic linkage  

  (C) Phosphodiester linkage (D) Disulphide bridges 

 (ix) Mh ,u , dks nwljs o`gn~ v.kqvksa ds lkFk eksfpr djus ds fy, ikni dksf'kdk dks fdl ,atkbe }kjk 
lalkf/kr fd;k tkrk gS \ 1 

  By which enzyme plant cell is treated to release DNA along with other 

macromolecules ? 

 (x) 2002 esa lrr fodkl ij fo'o f'k[kj lEesyu dgk¡ ij gqvk Fkk \ 1 

  Where was the World Summit on sustainable development held in 2002 ? 

 (xi) ELISA dks foLrkfjr dhft,A 1 

  Write full form of ELISA. 

 (xii) LdqVsye ¼iz'kYd½ fdls dgrs gSa \ 1 

  What is scutellum ? 

 (xiii) fo;qDrkaMih ls vkidk D;k vfHkizk; gS \  1 

  What do you mean by Apocarpous ? 

 (xiv) lh Mh vkj vkbZ y[kuÅ }kjk fodflr dh xbZ] vkSjrksa ds fy, xHkZfujks/kd xksyh dk uke fyf[k,A 1 

  Name oral contraceptive for females developed at CDRI Lucknow. 

 (xv) Lor% tuu ¼LikWUVsfu;l tsujs'ku½ fl)kUr dks [kkfjt djus okys oSKkfud dk uke fyf[k,A 1 

  Name the scientist who dismissed the theory of spontaneous generation. 
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[k.M[k.M[k.M[k.M – cccc    
SECTION –  B 

¼vfr¼vfr¼vfr¼vfr-y?kwÙkjkRed iz'u½y?kwÙkjkRed iz'u½y?kwÙkjkRed iz'u½y?kwÙkjkRed iz'u½    
(Very Short Answer Type Questions) 

  2. iq#"k dh fyax dh lgk;d xzafFk;ksa ds uke fyf[k,A buds dk;Z fyf[k,A 2 

 Name various male accessory glands. Write their functions. 

  3. xHkZfujks/kd mik;ksa ds O;kid iz;ksx ls gksus okys laHkkfor nq"izHkkoksa ds ckjs esa fyf[k,A 2 

 Write about the ill effects of wide spread use of various contraceptive methods. 

  4. VuZj flaMªkse ds dkj.k vkSj y{k.k D;k gSa \ 2 

 What are the cause and symptoms of Turner's syndrome ? 

  5. gkMhZ&osucxZ lkE;rk dks izHkkfor djus okys ik¡pik¡pik¡pik¡p ?kVd dkSu&ls gSa \ 2 

 Which five factors are known to affect Hardy-Weinberg Equilibrium ? 

  6. vuqdwyh fofdj.k D;k gS \ ,d mnkgj.k nhft,A 2 

 What is adaptive radiation ? Give an example. 

  7. Mh ,u , esa isfyaMªkse D;k gS \ ,d mnkgj.k nhft,A 2 

 What is Palindromes in DNA ? Give an example. 

  8. ekbdksjkbt+k fdls dgrs gSa \ blds ykHk fyf[k,A 2 

 What is mycorrhiza ? Write its advantages. 

  9. ;kSu lapkfjr jksxksa ls vkxs pydj D;k tfVyrk,¡ iSnk gks ldrh gSa \ 2 

 What complications could arise at later stage due to sexually transmitted 

disease ? 
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[k.M[k.M[k.M[k.M – llll    

SECTION –  C 

¼y?kwÙkjkRed iz'u½¼y?kwÙkjkRed iz'u½¼y?kwÙkjkRed iz'u½¼y?kwÙkjkRed iz'u½    

(Short Answer Type Questions) 

10. ok;q ,oa dhV ijkfxr iq"iksa dh fo'ks"krk,¡ fyf[k,A 3 

 Write down the characteristics of wind and insect pollinated flowers. 

11. Lru xzafFk dk vkjs[kh; dkV n`'; dk ukekafdr fp= cukb,A 3 

 Draw a diagrammatic sectional view of mammary gland. 

12. ekWxsZu }kjk fd, x, dk;Z ds fy, MªkslksfQyk D;ksa mi;qDr ikbZ xbZ Fkh \ 3 

 Why was Drosophila found suitable for Morgan's work ? 

13. vfr nksgu ,oa lgfoyqIrrk fdl izdkj tSo fofo/krk dh {kfr ds dkj.k gSa \ 3 

 How does over-exploitation and co-extinctions cause biodiversity loss ? 

14. mRikndrk ls D;k vfHkizk; gS \ ldy izkFkfed mRikndrk ,oa usV izkFkfed mRikndrk esa vUrj Li"V 
dhft,A 3 

 What is meant by productivity ? Differentiate between gross primary productivity 

& net primary productivity. 

15. ikniksa esa 'kkdkgkfjrk ds fo#) j{kk djus dh egÙoiw.kZ fof/k;ksa ds ckjs esa fyf[k,A 3 

 Write about important defence mechanisms in plants against herbivory. 

16. tSoizkS|ksfxdh D;k gS \ fdu nksnksnksnks izeq[k rduhdksa dk vk/kqfud tSoizkS|ksfxdh ds fodkl esa ;ksxnku gS \ 3 

 What is Biotechnology ? Which two core techniques contributed in the 

development of modern biotechnology ? 

17. tSo lfØ; v.kq dks mRiUu djus esa fdu lw{ethoksa dk mi;ksx fd;k tkrk gS \ buds ykHk fyf[k,A 3 

 Which microbes are used in the production of bioactive molecules ? Write their 

uses. 
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[k.M[k.M[k.M[k.M – nnnn    
SECTION –  D 

¼nh?kZ mÙkjkRed iz'u½¼nh?kZ mÙkjkRed iz'u½¼nh?kZ mÙkjkRed iz'u½¼nh?kZ mÙkjkRed iz'u½    
(Long Answer Type Questions) 

18. fxzfQFk }kjk izLrqr :ikarjh; fl)kUr dk o.kZu dhft,A 5 

 Describe the transformation principle proposed by Griffith. 

vFkokvFkokvFkokvFkok    
OR    

    f}daqMyh Mh ,u , dh lajpuk dh [kkl fo'ks"krk,¡ fyf[k,A  
 Write down the salient features of double helix structure of DNA. 

19. Mªx@,sYdksgy dqiz;ksx ds izHkkoksa dk o.kZu dhft,A 5 
 Describe the effects of drug/alcohol abuse. 

vFkokvFkokvFkokvFkok    
OR    

    IyST+eksfM;e ds thou pØ dk o.kZu dhft,A    
 Describe the life cycle of Plasmodium. 

20. thu fpfdRlk D;k gS \ ,Mhukslhu fM,ehust ¼, Mh ,½ dh deh dk mnkgj.k nsrs gq, o.kZu dhft,A 5 

 What is gene therapy ? Illustrate using the example of adenosine deaminase 

(ADA) deficiency. 

S 


